Suppression des parenthéses

1) Supprime les parentheses puis réduis chaque expression

A=3x-(x+6) B=6y+(3y-8) C = 3a - (-2 + ba)
AT e, B= e C s
AT e B= e C e
D=-2xx(-7x + 3) E=-2b-(-4 - 6b) F=-(4c+5)+ 3c
D= E= e Foos
D= E= F oo

2) Supprime les parentheses puis réduis chaque expression

A=(x+3)-(x+B)-(x-7) B=-(a+4)+(-a-5)+(3-aq)

A T o B oz s
A T B oo e,
C=-(x®*-x)-(x-1)-3(1-x?) D= x?-(3x%-5x) + (x - 8x?) - 2x?

C o s D T s
C o e D T e

3) Supprime les parentheses puis réduis chaque expression

A=9-(x?+3x?)-9x+ 7 (-bx - 7x?)
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